5 10 15 20 25

| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

05 =50-15-10 50

-10

-20

| N of associated (recoToSim) looper tracks vs dz |

=30

(ST

Sy b
< )

> ©
- - -

s "
o

0995 =50-15-10 =5 0

N of reco track vs dz

0
N
Jo
I
o
—
Jo
—
-
-{o
I (Yo}
1
o
1T
)
1
o
N
LD
£
(=)
n o
I I3}
o
N
o
) I
—
o —
— N =
° —
[t} g
o
2
(=) 8 o
LO 3
[ 3 S
o
— s |
| 3
[t} 2
— = o
| 2 IN]
o E 1
N S
. . . ! ]
[P PP P L 9 2 11
s o D & 5P
o =] =1 ~ » 5 )
— — N o o
Ryl z
= S I
o 5|
E=
odey
afal
o ]
HE s N
I~ o
N
T_ 1
=3 o
[ o4/ 1=
afal 1
)




	Contents
	Page 1


